

$$x^2 - ax + \varepsilon = 0 \quad x_1, x_2 \text{ roots} \quad x_1 + x_2 = \frac{a}{\varepsilon} \quad x_1 x_2 = \frac{\varepsilon}{\varepsilon} \rightarrow x_1 x_2 = \frac{\varepsilon}{\varepsilon} \quad (1)$$

$$x_1 x_2 = \pm \frac{\varepsilon}{\varepsilon} \rightarrow x_1 + x_2 = \frac{a}{\varepsilon} \rightarrow x_1 + x_2 = \varepsilon x_1 = \frac{a}{\varepsilon} \rightarrow \boxed{a = \varepsilon}$$

$$\varepsilon x_1 = -\frac{a}{\varepsilon} = \frac{a}{\varepsilon} \rightarrow \boxed{a = -\varepsilon} \quad \varepsilon - (-\varepsilon) = \boxed{2\varepsilon}$$

(2)

$$x^2 - (m+1)x + 1 = 0 \rightarrow x_1 + x_2 = \frac{m+1}{1} \quad x_1 x_2 = \frac{1}{1}$$

$$\sqrt{\frac{1}{x_1}} + \sqrt{\frac{1}{x_2}} = 2 \xrightarrow{\text{square}} \frac{1}{x_1} + \frac{1}{x_2} + 2\sqrt{\frac{1}{x_1 x_2}} = 4 \rightarrow \frac{1}{x_1} + \frac{1}{x_2} = \frac{x_1 + x_2}{x_1 x_2}$$

$$\xrightarrow{\text{substitution}} \frac{m+1}{1} + 2\sqrt{\frac{1}{1}} = 4 \rightarrow m = 2 \quad \text{or} \quad m = 0 \quad \text{or} \quad m = -2$$

$$\text{sum of roots} \rightarrow P = \frac{r}{m} \rightarrow \frac{r}{m} = \frac{r}{m}$$

$$\alpha + \beta + \gamma = \frac{k}{\varepsilon} \rightarrow \alpha/\beta + \alpha/\gamma + \beta/\gamma = \frac{a}{\varepsilon} \quad \alpha/\beta/\gamma = \frac{1}{\varepsilon} \quad (3)$$

$$\alpha + \beta = 1 \quad \alpha/\beta = \frac{1}{\varepsilon} \rightarrow \alpha/\beta/\gamma = \frac{1}{\varepsilon} \quad (-1)/\gamma = \frac{1}{\varepsilon} \rightarrow \gamma = -\frac{1}{\varepsilon}$$

$$\alpha + \beta + \gamma = 1 - \frac{1}{\varepsilon} = \frac{\varepsilon - 1}{\varepsilon} \rightarrow \alpha + \beta + \gamma = \frac{k}{\varepsilon} \rightarrow \boxed{k = -1}$$

(4)

$$x^2 + 4x + a = 0 \rightarrow \alpha = -2 + \sqrt{4-a}, \quad \beta = -2 - \sqrt{4-a} \quad (5)$$

$$\alpha^2 = (-2 + \sqrt{4-a})^2 = 4 - 4\sqrt{4-a} + a \quad \beta^2 = 4 + 4\sqrt{4-a} + a$$

$$2(4 - 4\sqrt{4-a}) + 2(4 + 4\sqrt{4-a}) = 12\sqrt{2} + 10 \rightarrow$$

$$8 - 8\sqrt{4-a} + 8 + 8\sqrt{4-a} = 12\sqrt{2} + 10 \rightarrow 8\sqrt{4-a} = 12\sqrt{2} - 2 \rightarrow \boxed{a = 1}$$

(6)

$$y = \frac{V \pm \sqrt{4a+4}}{2} = \frac{V \pm \sqrt{4a}}{2} \quad (a)$$

$$y = \frac{V + \sqrt{4a}}{2} \rightarrow x = \pm \sqrt{y} \quad S = \sqrt{y} + (-\sqrt{y}) = 0 \quad P = (\sqrt{y} - \sqrt{y})^2 - y = -\frac{V + \sqrt{4a}}{2}$$

$$2P^2 \rightarrow P^2 y^2 \rightarrow y^2 = Vy + 0 \rightarrow 2P^2 = 2(Vy + 0) = 2Vy + 0$$

$$12 \times \frac{V + \sqrt{4a}}{2} + 0 = 4a + V\sqrt{4a} + 0 \rightarrow \boxed{4a = V\sqrt{4a}}$$

$$r_1 + \frac{1}{r}, r_2 + \frac{1}{r} \quad \text{For } r^2 + an - y_2 = 0 \rightarrow r_1 + r_2 = -\frac{a}{ra} = -\frac{1}{r} \quad (2)$$

$$r_1 + r_2 = -\frac{a}{ra} = -\frac{1}{r} \Rightarrow r_1, r_2 = -\frac{y}{ra} = -\frac{r}{a} \quad (r_1 + r_2) + 1 = -\frac{1}{r} + 1 = \frac{1}{r}$$

$$\frac{a}{r} = \frac{1}{r} \rightarrow a = 1 \quad \text{والمعروف} \rightarrow (r_1 + \frac{1}{r})(r_2 + \frac{1}{r}) = r_1 r_2 + \frac{1}{r}(r_1 r_2) + \frac{1}{r}$$

$$-\frac{r}{a} + \frac{1}{r}(-\frac{1}{r}) + \frac{1}{r} \quad a = 1 \rightarrow -r - \frac{1}{r} + \frac{1}{r} = -r$$

$$\frac{b}{r} = -r \rightarrow b = -r \quad \left| \frac{ab}{r} \right| \rightarrow \left| \frac{-r}{r} \right| \rightarrow \boxed{-1}$$

(V)

$$an^2 - an - b = 0 \quad \alpha + \beta = \frac{a}{\beta} \Rightarrow \alpha/\beta = \frac{1}{\alpha} \quad \alpha = 1 - \beta \quad \alpha^2 = (1 - \beta)^2 = 1 - 2\beta + \beta^2$$

$$\varepsilon \cdot \beta^2 + 1 \cdot (1 - 2\beta + \beta^2) = 2 \cdot \beta = 1 \rightarrow \varepsilon \cdot \beta^2 + 1 - 2\beta + \beta^2 - 1 = 1 \rightarrow \varepsilon \cdot \beta^2 + \beta^2 - 2\beta = 1$$

$$4 \cdot \beta^2 - 4 \cdot \beta + 1 = 1 \rightarrow 4 \cdot \beta^2 - 4 \cdot \beta + 1 = 0 \quad \beta = \frac{4 \pm \sqrt{16}}{8}$$

$$|\beta_1 - \beta_2| = \frac{\sqrt{16}}{4} \rightarrow \sqrt{16} = 4 \rightarrow |\beta_1 - \beta_2| = \frac{4}{4} = 1 \rightarrow \alpha + \beta = 1 \quad \text{صحيح}$$

$$n^2 - (a+1)n + a = 0 \rightarrow \alpha, \alpha+1 \rightarrow r_1 \alpha + r_2 \alpha + 1 \rightarrow \alpha = \pm 1 \quad (1)$$

$$n^2 - (ra+1)n + b = 0 \rightarrow \beta, \beta+1 \quad \alpha = \alpha^2 + r_1 \alpha \rightarrow \alpha = 1 \quad \text{والمعروف}$$

$$\beta + 1 = \alpha + 1 \rightarrow \beta = \alpha$$

$$\varepsilon n^2 + r_1 n = b \rightarrow b = r_1 \varepsilon$$

$$\alpha = 1 \rightarrow r_1 = 1 \quad r_2 = 1 \quad \boxed{1}$$

$$\alpha = 1 \rightarrow r_1 = 1$$

$$n^2 + n - 1 - m^2 = 0 \rightarrow \alpha^2 = m^2 + 1 - \alpha \quad (4)$$

$$\alpha^2 + \beta^2 \rightarrow m^2 + 1 - \alpha + m^2 + 1 - \beta = 2m^2 + 2 - (\alpha + \beta) \rightarrow 2m^2 + 2 - 1 = 2m^2 + 1 \rightarrow n_{\min} = \frac{b}{ra} = \frac{1}{ra}$$

$$n = \frac{r + (-8)}{r} = -1 \quad (-1, 1) \quad y = a(n+1)^2 + 1 \rightarrow 0 = a(n+1)^2 + 1 \quad (5)$$

$$(n+1)^2 = -\frac{1}{a} \rightarrow \beta = -1 \pm \sqrt{-\frac{1}{a}} \quad \alpha + \beta = -1 \quad \alpha/\beta = \frac{1}{\alpha} + \frac{1}{\alpha} \quad \alpha^2 + \beta^2 = (\alpha + \beta)^2 - 2\alpha\beta$$

$$a = \varepsilon - r(1 + \frac{1}{a}) \rightarrow a = -\frac{r}{r} \quad y = a(1)^2 + 1 = -\frac{r}{r} + 1 = \frac{1}{r} \quad \boxed{\frac{1}{r}}$$